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QUESTION 1

You physically disconnect a switch from the network. However, Live Exceptions does not indicate that the device is
unavailable. Why?

A. Live Exceptions is misconfigured.

B. Live Exceptions must first poll the device and confirm its unavailability.

C. Live Exceptions does not provide availability alarms for network elements such as switches.

D. Live Exceptions will not show an availability alarm for the device until it becomes available again.

Correct Answer: D

QUESTION 2

You want to identify your current patch and device update versions to determine if you need to install patch and
certification updates. Which command do you use?

A. nhConfig

B. nhShowRev

C. nhListElements
D. nhModifyElement

Correct Answer: B

QUESTION 3

What is the primary value of the Health report?

A. It runs quickly.

B. It highlights past problems.

C. It will work with the other reports, such as the Trend and At-a-Glance reports, to highlight past and current problems.

D. It will perform an analysis of every element in the selected group to highlight both current problems and potential
future problems.

Correct Answer: A

QUESTION 4

You are planning the self monitoring of CA eHealth and you want to implement comprehensive monitoring of the
underlying Oracle database. Which approach should you take?
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A. Call CA Services to configure Oracle monitoring.
B. Configure a CA SystemEDGE agent to monitor the database.
C. Do nothing, because CA eHealth monitors the database comprehensively out of the box.

D. Download and use one copy of CA Insight Database Performance Monitor for Distributed Databases to monitor the
CA eHealth embedded database(s).

Correct Answer: D

QUESTION 5

If ping is disabled, how is device Reachability measured?
A. By SNMP

B. By timeout

C. By delta time

D. By HTTP request

Correct Answer: A

QUESTION 6

Which feature enables you to create the Layout Configuration File (LCF)?
A. Sizing Wizard

B. Output Wizard

C. Properties dialog

D. Capabilities dialog

Correct Answer: A

QUESTION 7

After some recent changes to permissions, Report Administrator, Sue White, discovers that she can no longer run
Report Studio. Which CA eHealth administrator role can grant Sue permission to run Report Studio?

A. Author
B. Query User
C. Server Administrator

D. Directory Administrator
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Correct Answer: D

QUESTION 8

You are planning to implement the latest release of CA eHealth, r6.3. Which operating system is no longer supported by
this release?

A. HP-UX 11.11

B. Solaris 9 or 10

C. Red Hat Enterprise Linux

D. Windows Server 2003 32-bit

Correct Answer: A

QUESTION 9

Which report type can you drill down to from an At-a-Glance report?
A. TopN

B. Trend

C. Health

D. Service Level

Correct Answer: B

QUESTION 10

The latest version of CA eHealth supports IPv6. Which statements about CA eHealth IPv6 support are TRUE? (Choose
two)

A. All the basic behavior of CA eHealth supports IPv6.

B. Systems running in a CA eHealth cluster must only have IPv6 addresses.

C. The network that CA eHealth resides on must be capable of routing both IPv4 and IPv6 addressed packets.

D. The notifier still only sends traps using the SNMPvI form, even when agent addresses are of the IPv6 family type.

Correct Answer: AC

QUESTION 11

You are installing CA eHealth on a UNIX platform but receive errors associated with Kernel parameters. Which file do
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you check to investigate the errors?
A. letc/system

B. /var/tmp/.flexim

C. /etc/nh.install.cfg

D. /etc/init.d/nethealth.sh

Correct Answer: A

QUESTION 12

What does the nhLoadDb command do? (Choose two)

A. Calculates the size of all files from a saved database

B. Completely replaces the contents of the current database with a saved database

C. Copies the saved report, element type, and other customized files into the appropriate directories

D. In a remote polling environment, copies files in ehealth/modules/remotePoller/.config but not files in
ehealth/modules/remotePoller to the appropriate directory

Correct Answer: BC

QUESTION 13

Which benefit results from rolling up data?

A. Rolled-up data can be retained indefinitely.

B. Data is consolidated to reduce database size.

C. Occasional spikes and dips in gauge data are retained.

D. Averaged rolled-up data values provide a better representation of performance.

Correct Answer: C

QUESTION 14

Which tool enables you to edit Discover Policies?
A. Motif

B. WorldView

C. Capabilities Wizard
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D. One Click for eHealth

Correct Answer: D

QUESTION 15

In which log file can you review and reconcile polling error messages?
A. poller.bg

B. stats.poller.bg

C. messages.stats.bg

D. discoverMerge.time.date.bg

Correct Answer: C
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